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10 344p 102&5* FF kv Eg 2 1, 356. 20 20 FEW® 249,000 ] 337,693,800 33, 769, 000
11 348p 102&5* FF kv Eg 3 658. 63 30 FEW® |274,000 ] 180,464,620 18, 046, 000
12 344p 102&5* FF kv Eg 5 939. 75 20 FEW® | 242,000 | 227,419,500 22,742,000
13 344p 102&5* FF kv Eg 25 1,619. 96 30 FEW® | 284,000 460,068,640 46, 007, 000
1| saw |o2ese | wmw | kem| 26 |nossos| 15 | wEw | 247,000 | 268,311, 160] 26,831, 000
15 | saw |wo2ese | wmn | s | st | nososs | 15 | mEw | 247000 | 259,550, 9500 25,956, 000
16 | sam |102a50 | pmw | knm | s [ssee00| 30 | wzw [279 000 | 928,205 100 92 821, 000
17| saw |woeese | wmw | em | s1 | ooz 30 | wxw | 267000 280,328, 640] 28,033, 000
18 | saw |wo2ese | wmw [ wrm| o5 |nosis| 15 | a=w | 179,000 | 198,635 000] 19,364, 000
19 | saw |wo2ese | wmn | ke | o8 | uzsas | 10 | axw |14s000| 185236800 1,852 000
20 | sam |1o2ese | pmw | ke | 102 | wzeer | 10 | wzw [1as 000 | 18738280 1,874, 000
ot | sam |ro2ese | pmw | knm | 15 | 2z |10 | azw [1as 000 | 31,270,020 3127, 000
22 | sam |1o2ese | pemn | kmw | 137 | soes2 | 10 | wzw [152.000| 46636640 4,664 000
23 | sam |102ese | pemw | kmw | 13 | woast | 10 | wzw [1as 000 28,796.360] 2 880, 000
ot | sam |1o2ese | pmn | ke | 159 | sree |10 | azw {14000 19,299.63] 1,930, 000
o5 | saw |102e50 | pmw [ ks | 163 | 1663 | 10 | wzw |14no000| 23750610 2376, 000
96 | saw |102es0 | pms [ krm | 100 | 19520 | 10 | wzw |14s000] 28889600 2 889,000
o1 | saw |102ese | pmw [ ke | 215 | ss0.00 | 10 | a=w |152.000] 53,200,000 5 320,000
o8 | saw |102e50 | pmw [ krm | 223 | o006 | s0 | w=w |170,000| 153 108, 800] 15,311,000




